EARAROBEEIERT — 2 N— IBISH —F

20195 7A7H (B) 2m{E5E4AH

R Xl

REEFI

CES&)

HEE] B

EZS

& ‘ [REBE] — | Z (%) 2000M 4=

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. FiElE :03. -1-1- . . FHE#E (ER)
AR PSS I 3 o 2(0_3)1 1-1-1-1 | 36.5| 88.4 | 1 ;1352) R
LN=VI54 B:T—0F71vIIL7 g—L— - T vIN> - T7—LBERE
. X A 4 3 | BEEXRLET 2:03.5 4-5-5-3 | 36.3| 84.5 | 8 388 | REEE (i)
2|5|9|F~3-IATX 4510 2172 (o) | B
RiANT = BiAUFL—> HET7— L
SR _ 4 3 | FIBEK 2:03.6 2-2-2-2 | 36.8|83.6 | 4 442 | REBK (ER)
317l13/ 7> KVaoF 56.0 (1/2) (+6) RHES
LN—ErTv— B:4-E-J—-> =Rk et
R o “ [V EN: :03. -4-3- . . HEIEE (EH)
s 7|7z ad70y [B] R i MR el e ﬁf) &)1 —
R:/F1UX N B:AT7IO-LIL ZREAKS
. 4 3 | ABHRH 2:03.9 6-6-5-6 | 36.7 | 80.7 | 5 490 | BAE (XH)
5/5|8 77{/7[/} 56.0 (1 1/2) 6) Hz
g4 7=y B:dy MFE-b Fy P EF T — L
: 4 3 | HILHSA 2:04.1 12-12-13-8 | 36.4 | 78.7 | 10 | 480 | LEiEZ (X&)
EE ) V4 |‘7’]”\"7DZ 56.0 (1 1/2) 42) SEREF—
L:Fs =TTV T BV MARISTN J—HrTr—LA
i ; S 43 | WiEsE 2:04.2 3-3-3-3 |37.2| 78.0 | 12 | 504 |KILRE (ik)
78|15/ F—77RA—F A53.0 (3/4) 2 | B ITr—L
Z:E'ECTFAYY BANIVIFry b INTF—L
N AHEEE : -8-11- S (EA)
8 NEE = AR 43 el 2(;111:)3 8-8-11-11 [ 36.8 | 76.9 | 3 zzg? e
R g hT—ILEY B:THAFUSE BEZX &Y K
3 | ENEAS 2:04.3 12-12-5-6 | 37.1| 77.0 | 2 498 | EIRIRRAC ()
9 6| 1T71—7F 56.0 (7€) (g) | LB
R:7RKYfYL—> B:7TO-KRF312R TEEMS
= K R 4 3 | AEEH 2:04.4 8-8-11-9 | 36.9| 76.0 | 6 480 | BERFNME (EiA)
1wkl 3|77 F7~y R A53.0 (1/2) () | (@) HAEL-ZH-2
R:N—=YI514 B:NA by~A (/) HEa-KL—Ya> AET7
B : 4 3 | AxS 2:04.5 14-14-14-14| 36.6 | 74.8 | 9 550 | BT ()
11 5 2yl i o AV b4 56.0 (1/2) (=) %BE%HDJI/?
L:VvRag4 BiR-L> () HEI-RL—-2a>AET7
= o3 | HEX 2:05.2 6-7-9-9 [37.8| 69.1 | 15 | 416 |=ia#ElE (H)
12/ 814 INEI= V=== 56.0 (4) (0) BEET]
R—5—Yy 7 B:I7OLT7Y TR Y]
- S 4 3 | R 2:06.4 8-8-8-12 | 39.1| 60.0 | 14 464 | BRERE (ERH)
EHK) FTZAHT [B] 55.0 %) (-4) EBE!?'E
bt R B:E24FIIR=IL SH (S
3. 5 4 3 | BEERTT 2:06.8 11-11-9-12 | 39.4 | 57.1 | 11 | 564 |HME (X&)
14\7|12| 7 P v 771 [B] _ 8.0 @ 1/2) () | BEAE
R:T—9TH—Z B:PIUTLTY—X J—HrIr—L
S _ 4 3 | AEBZ 2:08.6 15-15-15-15| 39.3 | 41.8 | 13 162 | HEEW (ER)
15 HIp7yx—%2V 56.0 (21 4) (-8) %E‘i?
L:F—TTVIF B:5TU-NO-X EAHNTT— L
@ 21 L
£ 48.6-36.5
NA>ZA L | 12.7-11.6-11.9-12.8-12.9-12.6-12.1-12.2-12.1-12.2
® 1—F—@EBIERL
13—7— 1,13,15(7,9) (8,14) (3,4,10)12(2,6) 5=11
23— — 1,13,15,7,9,8,14(3,4,10)12(2,6)-5-11
Jo=5r= 1,13(7,15) (8,9,6)10(14,12) (3,4) 2,5=11
43—+ — 1,13(7,15,9) (8,6)2(3,14)4(10,12) 5=11
[ N5
B 1 370H 714K 1-9 1,200M e E 1-5 1,560M JEE 1-9-13 6,820/
# B 1 170 1-13 650 B = 1-9 3,300 3EE 1-9-13 34,450
9 370M 9-13 1,530 B H 1-9 5,320M
13 220M

ABICOVWTRDTEEERROODE. TR LIV,




